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Messenger RNA Codons and Amino Acids for Which They Code
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 Reid’s Weekly Living Environment

 Homework Packet
Due before class starts on Wednesday, February 7th, 2018. 
Name: _____________________________________________________

Period: ________


 Important Reminders:

· HW 14 is due January 19th
· Quick Quiz this Friday!!!

· Your Final is on January 24th  at 1 P



Genetics

Every cell in the body has a dark area in it called the ________. The nucleus is the ________ center of the cell. Inside the nucleus is a _______ molecule called deoxyribonucleic acid, also known as ______. This molecule is responsible for all things that occur in your body. DNA has a ________ strand helix shape or a twisted ladder look. DNA is made up of 4 nucleic bases: Adenine, Thymine, ________ and Cytosine. Because DNA is so long, there are many different _________ of these nucleic bases. These nucleic bases bond to another nucleic base form a ladder look. Adenine will only bind with thymine and ________ will only bind with guanine.
 DNA decides if you have brown eyes or blue; or if you will be tall or short. It will also tell dividing cells what cells they will become. DNA does this because it is made up of ________, which are small sections of DNA. Genes code for a _________ protein.  But because proteins are made in the ________ and DNA is too big to _________ the nucleus, DNA must use another molecule to deliver its __________.

________ or ribonucleic acid is made by the DNA so that DNA’s message can be given to the ribosome. RNA is much __________ than DNA. This allows the RNA to leave the nucleus. It is also _________ stranded and it is made up of Adenine, Guanine, Cytosine and __________.  RNA follows the same base pairing as DNA except ___________ binds with Uracil instead of Thymine. When the DNA wants to make a protein, it _________ at a gene. Nucleic bases will bind onto the gene. When the gene is completely _________, the RNA will detach and leave the nucleus. 

One end of the RNA will _________ to the ribosome. The ribosome will _______ the RNA in a 3 base code.  Each 3 base code will code for 1 __________. As the ribosome moves down the RNA more and more amino acids are bound together. When the ribosome reaches the end of the RNA a _______ protein will be made. 
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Using the chart above fill in all the missing codes.
1)  DNA:          ATG   CCT   ATT   CGC    ATG   TTG    GCA    AAA    GCG

     RNA:          UAC   GGA   UAA   GCG   UAC   AAC    CGT    UUU    CGC

     Ribosome:   ___   ___    ___    ___   ___    ___     ___    ____   ____

2)  DNA:         TTG   CAT    AGG   CCC    TTG   TGG     GCG   ATG    AAG

     RNA:           ____   ___   ___    ___    ___   ___     ___    ____   ____
     Ribosome:    ASN   VAL   SER   GLY    ASN   THR    ARG    TYR     LEU

3)  DNA:          AAA    GGT    ___   TGC   ___    TAG     ___    AGG    ____
     RNA:           ____   CCA    UCA   ___   AAC    ___     CCU     ___    CAC

     Ribosome:   PHE     ___    SER    ___   ___    ILE     PRO     ___    HIS     
Name: _________________________________ Period: ____________ Date: _____________________

DNA Code


1)
[image: image2.png]‘Which molecule has the shape of a double-stranded helix?
(A) RNA (C) ADP
B) DNA D) ATP




2)
[image: image3.png]the diagram below and on your knowledge of biology. The
diagram represents molecules involved in protein synthesis
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In plant cells, molecule 1 is found in the

(A) centriole
(B) nucleus

(©) cell wall

(D) Iysosome




3)
[image: image4.png]In a portion of a gene, the nitrogenous base sequence is T-C-
G-A-A-T. Which nitrogenous base sequence would
normally be found bonded to this section of the gene?

(A) A-C-G-T-A-A (C) A-G-C-T-T-A
(B) A-C-G-U-U-A (D) U-G-C-A-A-U




4)

[image: image5.png]For which organic compounds must information be
encoded in DNA for green plants to synthesize the other
three compounds?

(A) sugars (C) fats

(B) starches (D) proteins




5)
[image: image6.png]If a set of instructions that determines all of the
characteristics of an organism is compared to a book, and a
chromosome is compared to a chapter in the book, then
what might be compared to a paragraph in the book?

(A) astarch molecule (C) an amino acid
(B) anegg (D) aDNA molecule




6)

[image: image7.png]The structure of messenger RNA is determined by the
structure of

(A) PGAL (C) DNA
B) ATP (D) ADP




7)

[image: image8.png]The diagram below represents an incomplete section of a
DNA molecule. The boxes represent unidentified bases.
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8)

[image: image9.png]A single gene mutation would most likely occur if
(A) messenger-RNA molecules temporarily bond to DNA
molecules

(B) the cytoplasm lacks the amino acids necessary to
synthesize a certain polypeptide
(C) abase sequence in a DNA molecule is changed

(D) transfer-RNA molecules do not line up properly on a
messenger-RNA molecule
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Which amino acid would be transferred to the position of codon CAC?
(A) leucine (B) glycine (©) valine (D) histidine




10)

[image: image11.png]‘What is the complementary messenger-RNA sequence for
the DNA sequence shown below?

CAAGGT
S S Y

(A) C-A-A-G-G-U (€) G-U-U-C-C-A
B) G-T-T-C-C-A (D) C-A-A-G-G-T
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Cool Science Fact of the Week!


○It takes about eight hours for one of your cells to completely copy its DNA. 


○The human DNA code is made up of about three thousand million A,T, C, and Gs on each side of the DNA strand. 


○If you were to start reciting the order of the ATCGs in your DNA tomorrow morning, at a rate of 100 each minute, 57 years would pass before you reached the end (provided that you did not stop to eat, drink, sleep, use the bathroom etc.)


○If you were to stretch out the DNA from those 46 chromosomes in one cell and lay it end to end, it would be over 2 yards in length. 


○If the total DNA in one person were laid in a straight line, it would stretch to the sun and back over 30 times (it is 93 million miles from here to the sun). 
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5) One fifth of the oxygen we inhale is used up by the cells in the brain. 





The star Sirius B is so dense that a piece of it the size of a sugar cube would weigh several hundred tons. 


The speed of light, at 670 million mph, sounds very fast. But a light ray, at this speed, would take about 26 billion years to cross the visible universe. 


The universe is apparently infinite in extent. If you could travel a distance in light-years of one thousand trillion digits, you might find another planet identical to Earth with identical people


employees – rather than state employees.








Important Reminders:


This is the beginning of Semester 2


Test on February 14th 


THE REGENTS IS ONLY 134 DAYS AWAY








Topics for the week:


DNA, Genes, Nucleic bases, Genetics, Mutations, RNA
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